R
O—%D#1E (cm)

w
T

25

3L

=ODANEL/ET S A

RCF=2200Xg

16cm

N;3500rpmj

(%CF#ZOOOOXQ

51

R=8cm
N=1500

Orpmj

RCF
=S (xg)

7000

6000+
5000+

4000+

3000+

150+

100

80+
70+
60—

50-
40

30+

20+

15+

10-

fERZ OO—20*FF (cm) &. EEE (rpm) ZRENIL,
@O—2D*#FE (cm) &

EOHDFHER RCF (Xg) =11.18X (%

2
) XR  N(rpm)= 299xﬁ
0 R

R (cm

)

B (Xg) ZRANIE.

_ 8.94X104 XRCF

RCF :
R:
N :

N2

[EEEX (rom)

N
5000 7
~ 700000 ]
- 600000 45007
- 500000 ]
- 400000 4000?
- 300000 3500
~ 200000 ]
3000
- 150000 ]
- 100000 2500
- 80000 -
- 70000 .
~ 60000 1
- 50000 20007
- 40000 ]
— 30000 |
——26600‘”‘“"?iggj
~ 15000 1300 -
1200 ]

~ 10000
- 1100

~ 8000
~ 7000 1000 |
~ 6000 ]
- 5000 900 —
— 4000 :
- 800 -
~ 3000 i
i 700
- 2000 |
— 1500 600 -
L 1000 i
500 _

w07 (Xg)

[ElErEL (rpm)

50000
45000

40000

35000

30000

25000

20000

15000
14000
13000

12000

11000
10000

9000

8000

7000

6000

5000

HPMEENET,
PMEENET,

w0 (Xg) RCF I, reiative centrifugal field DEEETY,

O—5DHE

(cm)

BHDEEL (rom)



